Efficiency vs Dxy(PV)

001

0.

5 =36-15-10 5 0

5 10 15 20 25
TP dxy(PV) (cm)

—"— SoftQCD_default

I Efficieng] —" SoftQCD_ckfPixelLessStep

efficiency vs dxy(PV.

0.

Efficiency vs Dz(PV)

9317080604020 02040608 1

TP dxy(PV) (cm)

3 : :
24 : :

- AEEEEN FREEEE SEEEET-EEEREE EERER
0¥ =20 -0 0 10 20 30

Efficiency vs Dz(PV)
1.

TP dz(PV) (cm)

< [ T

a :

¥ :

@ 1 -------------. ----------

@ :

> .

Q .

5 08  ELREETT PEPRRPE

° :

g :
0. Seeenns R
0.4 foeeeas eeeeeas

] i |

0S5 0

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


